

THE MULTIPARAMETER NONCENTRAL STIRLING NUMBERS

B. S. El-Desouky

Department of Mathematics, Faculty of Science, Aswan, Egypt

(Submitted September 1992)

1. INTRODUCTION

The Sterling numbers of the first and second kind were introduced by Stirling in 1749 (see [9]). Recently, several generalizations and extensions of the Stirling numbers are given and many combinatorial, probabilistic, and statistical applications are discussed (see [1], [2], [3], [4], and [8]).

In a recent paper [6], Koutras defined $s(n, k; \alpha)$ and $S(n, k; \alpha)$ [we used these symbols instead of $s_\alpha(n, k)$ and $S_\alpha(n, k)$ to avoid ambiguity with Comtet's numbers], the noncentral Stirling numbers of the first and second kind, by

$$(t)_n = \sum_{k=0}^n s(n, k; \alpha) (t - \alpha)^k, \quad (1.1)$$

$$(t - \alpha)^n = \sum_{k=0}^n S(n, k; \alpha) (t)_k. \quad (1.2)$$

In this paper we use the following notations:

$$(t/\alpha)_n = \prod_{j=0}^{n-1} (t - \alpha_j), \quad (t/\alpha)_0 = 1, \quad \text{and} \quad (\alpha_k)_\ell = \prod_{\substack{j=0 \\ j \neq k}}^{\ell} (\alpha_k - \alpha_j), \quad k \leq \ell.$$

Comtet [5] defined $s_\alpha(n, k)$ and $S_\alpha(n, k)$, the generalized Stirling numbers of the first and second kind associated with $\alpha_0, \alpha_1, \dots, \alpha_{n-1}$, by

$$(t/\alpha)_n = \sum_{k=0}^n s_\alpha(n, k) t^k, \quad (1.3)$$

$$t^n = \sum_{k=0}^n S_\alpha(n, k) (t/\alpha)_k. \quad (1.4)$$

The main purpose of this paper is to modify the noncentral Stirling numbers of the first and second kind.

In sections 2 and 3 we define $s(n, k; \bar{\alpha})$ and $S(n, k; \bar{\alpha})$, the multiparameter noncentral Stirling numbers of the first and second kind; recurrence relations, generating functions, and explicit forms are obtained.

Some special cases are discussed and a relation between the multiparameter noncentral Stirling numbers and other Stirling numbers are found. Finally, in section 4, some applications are derived.

2. THE MULTIPARAMETER NONCENTRAL STIRLING NUMBERS OF THE FIRST KIND

Definition: Let t be a real number, n a nonnegative integer, and $\bar{\alpha} = (\alpha_0, \alpha_1, \dots, \alpha_{n-1})$ where $\alpha_0 < \alpha_1 < \dots < \alpha_{n-1}$ are real numbers.

We define the multiparameter noncentral Stirling numbers of the first kind, $s(n, k; \alpha_0, \alpha_1, \dots, \alpha_{n-1})$, briefly denoted by $s(n, k; \bar{\alpha})$, with parameters $\bar{\alpha} = (\alpha_0, \alpha_1, \dots, \alpha_{n-1})$, by

$$(t)_n = \sum_{k=0}^n s(n, k; \bar{\alpha}) (t / \alpha)_k, \tag{2.1}$$

where $s(0, 0; \bar{\alpha}) = 1$ and $s(n, k; \bar{\alpha}) = 0$ for $k > n$.

Theorem 2.1: The multiparameter noncentral Stirling numbers of the first kind $s(n, k; \bar{\alpha})$ satisfy the recurrence relation

$$s(n+1, k; \bar{\alpha}) = s(n, k-1; \bar{\alpha}) + (\alpha_k - n)s(n, k; \bar{\alpha}) \text{ for } k \geq 1, \tag{2.2}$$

where $s(0, 0; \bar{\alpha}) = 1$ and $s(n, k; \bar{\alpha}) = 0$ for $k > n$ and

$$s(n, 0; \bar{\alpha}) = (\alpha_0 - n + 1)(\alpha_0 - n + 2) \cdots (\alpha_0 - 1)\alpha_0 = (\alpha_0)_n.$$

Proof: Since $(t)_{n+1} = (t)_n[(t - \alpha_k) + (\alpha_k - n)]$, we have

$$\begin{aligned} \sum_{k=0}^{n+1} s(n+1, k; \bar{\alpha}) (t / \alpha)_k &= (t - \alpha_k) \sum_{k=0}^n s(n, k; \bar{\alpha}) (t / \alpha)_k + (\alpha_k - n) \sum_{k=0}^n s(n, k; \bar{\alpha}) (t / \alpha)_k \\ &= \sum_{k=1}^{n+1} s(n, k-1; \bar{\alpha}) (t / \alpha)_k + (\alpha_k - n) \sum_{k=0}^n s(n, k; \bar{\alpha}) (t / \alpha)_k. \end{aligned}$$

Equating the coefficients of $(t / \alpha)_k$ on both sides, we get (2.2). For $k = 0$ we get $s(n+1, 0; \bar{\alpha}) = (\alpha_0 - n)s(n, 0; \bar{\alpha})$; therefore, $s(n, 0; \bar{\alpha}) = (\alpha_0)_n$ follows by induction.

Remarks: We discuss the following special cases:

i) If $\alpha_i = \alpha$, $i = 0, 1, \dots, n-1$, then from (2.2) we have

$$s(n+1, k; \alpha) = s(n, k-1; \alpha) + (\alpha - n)s(n, k; \alpha),$$

where $s(n, k; \alpha)$ denotes the noncentral Stirling numbers of the first kind that is defined by Koutras [6].

ii) If $\alpha_i = 0$, $i = 0, 1, \dots, n-1$, then we have

$$s(n+1, k) = s(n, k-1) - ns(n, k),$$

where $s(n, k)$ denotes the usual Stirling numbers of the first kind [9].

iii) If $\alpha_i = i$, $i = 0, 1, \dots, n-1$, then $s(n, k; \bar{\alpha})$ reduces to the C -numbers, where $r = 1$, i.e., $C(n, k, 1)$ (see [3]).

Theorem 2.2: The multiparameter noncentral Stirling numbers of the first kind have the exponential generating function

$$\phi_{\bar{\alpha}}(t; \bar{\alpha}) = \sum_{n=k}^{\infty} s(n, k; \bar{\alpha}) \frac{t^n}{n!} = \sum_{j=0}^k \frac{(1+t)^{\alpha_j}}{(\alpha_j)_{\bar{\alpha}}}. \tag{2.3}$$

Proof: Let $\phi_{\bar{\alpha}}(t; \bar{\alpha})$ be the exponential generating function of $s(n, k; \bar{\alpha})$, then

$$\begin{aligned} \phi_{\bar{\alpha}}(t; \bar{\alpha}) &= \sum_{n=0}^{\infty} s(n, k; \bar{\alpha}) \frac{t^n}{n!}, \text{ where} \\ \phi_0(t; \bar{\alpha}) &= \sum_{n=0}^{\infty} s(n, 0; \bar{\alpha}) \frac{t^n}{n!} = \sum_{n=0}^{\infty} (\alpha_0)_n \frac{t^n}{n!} = (1+t)^{\alpha_0}. \end{aligned} \tag{2.4}$$

Differentiating both sides of (2.4) with respect to t , we get

$$\phi'_{\bar{\alpha}}(t; \bar{\alpha}) = \sum_{n=k}^{\infty} s(n, k; \bar{\alpha}) \frac{t^{n-1}}{(n-1)!},$$

and from (2.2) we get

$$\begin{aligned} \phi'_{\bar{\alpha}}(t; \bar{\alpha}) &= \sum_{n=k}^{\infty} s(n-1, k-1; \bar{\alpha}) \frac{t^{n-1}}{(n-1)!} + \alpha_{\bar{\alpha}} \sum_{n=k+1}^{\infty} s(n-1, k; \bar{\alpha}) \frac{t^{n-1}}{(n-1)!} \\ &\quad - t \sum_{n=k+1}^{\infty} s(n-1, k; \bar{\alpha}) \frac{t^{n-2}}{(n-2)!} \\ &= \phi_{\bar{\alpha}}(t; \bar{\alpha}) + \alpha_{\bar{\alpha}} \phi_{\bar{\alpha}}(t; \bar{\alpha}) - t \phi'_{\bar{\alpha}}(t; \bar{\alpha}); \end{aligned}$$

hence,

$$\phi'_{\bar{\alpha}}(t; \bar{\alpha}) - \frac{\alpha_{\bar{\alpha}}}{(1+t)} \phi_{\bar{\alpha}}(t; \bar{\alpha}) = \frac{1}{1+t} \phi_{\bar{\alpha}}(t; \bar{\alpha}).$$

Solving this difference-differential equation, we obtain (2.3).

Theorem 2.3: The numbers $s(n, k; \bar{\alpha})$ have the following explicit form:

$$s(n, k; \bar{\alpha}) = \sum_{r=k}^n \frac{n!}{r!} (-1)^{n-r} \sum_{\ell_1 \ell_2 \dots \ell_r} \frac{1}{\ell_1 \ell_2 \dots \ell_r} \sum_{j=0}^k \frac{\alpha_j^r}{(\alpha_j)_{\bar{\alpha}}}, \tag{2.5}$$

where, in the second sum, the summation extends over all ordered n -tuples of integers $(\ell_1, \ell_2, \dots, \ell_r)$ satisfying the conditions $\ell_1 + \ell_2 + \dots + \ell_r = n$ and $\ell_i \geq 1, i = 1, 2, \dots, r$.

Proof: From (2.3),

$$\begin{aligned} \phi_{\bar{\alpha}}(t; \bar{\alpha}) &= \sum_{j=0}^k \frac{(1+t)^{\alpha_j}}{(\alpha_j)_{\bar{\alpha}}} = \sum_{j=0}^k \frac{e^{\alpha_j \log(1+t)}}{(\alpha_j)_{\bar{\alpha}}} \\ &= \sum_{j=0}^k \frac{1}{(\alpha_j)_{\bar{\alpha}}} \sum_{r=0}^{\infty} \frac{(\alpha_j \log(1+t))^r}{r!} = \sum_{j=0}^k \frac{1}{(\alpha_j)_{\bar{\alpha}}} \sum_{r=0}^{\infty} \frac{\alpha_j^r}{r!} \left(\sum_{\ell=1}^{\infty} (-1)^{\ell-1} \frac{t^{\ell}}{\ell} \right)^r, \end{aligned}$$

and using Cauchy's rule of multiplication of infinite series, we get (2.5).

In the following, we find a relationship between $s(n, k)$ and $s(n, k; \bar{\alpha})$. From (2.1), we have

$$(t)_n = \sum_{k=0}^n s(n, k; \bar{\alpha}) (t/\alpha)_k;$$

hence,

$$\begin{aligned} \sum_{i=0}^n s(n, i) t^i &= \sum_{k=0}^n s(n, k; \bar{\alpha}) \sum_{i=0}^k s_{\alpha}(k, i) t^i \\ &= \sum_{i=0}^n \left(\sum_{k=i}^n s(n, k; \bar{\alpha}) s_{\alpha}(k, i) \right) t^i. \end{aligned}$$

Equating the coefficients of t^i on both sides, we get

$$s(n, i) = \sum_{k=i}^n s(n, k; \bar{\alpha}) s_{\alpha}(k, i). \tag{2.6}$$

Similarly, we can express $s(n, k; \bar{\alpha})$ in terms of $s(n, k)$. Since

$$(t)_n = \sum_{k=0}^n s(n, k) t^k,$$

we have, from (1.4) and (2.1),

$$(t)_n = \sum_{k=0}^n s(n, k) \sum_{i=0}^k S_{\alpha}(k, i) (t/\alpha)_i;$$

therefore,

$$\sum_{i=0}^n s(n, i; \bar{\alpha}) (t/\alpha)_i = \sum_{i=0}^n \left(\sum_{k=i}^n s(n, k) S_{\alpha}(k, i) \right) (t/\alpha)_i,$$

and hence,

$$s(n, i; \bar{\alpha}) = \sum_{k=i}^n s(n, k) S_{\alpha}(k, i). \tag{2.7}$$

Also we can express $S_{\alpha}(n, k)$ in terms of $s(n, k; \bar{\alpha})$. Since

$$t^n = \sum_{k=0}^n S(n, k) (t)_k = \sum_{k=0}^n S(n, k) \sum_{i=0}^k s(k, i; \bar{\alpha}) (t/\alpha)_i,$$

we have

$$\sum_{i=0}^n S_{\alpha}(n, i) (t/\alpha)_i = \sum_{i=0}^n \left(\sum_{k=i}^n S(n, k) s(k, i; \bar{\alpha}) \right) (t/\alpha)_i;$$

hence,

$$S_{\alpha}(n, i) = \sum_{k=i}^n S(n, k) s(k, i; \bar{\alpha}). \tag{2.8}$$

Combining equations (2.6) and (2.7), we get an orthogonality relation of $s_{\alpha}(n, k)$ and $S_{\alpha}(n, k)$. Since

$$s(n, i) = \sum_{k=i}^n s_{\alpha}(k, i) \sum_{\ell=k}^n s(n, i) S_{\alpha}(\ell, k) = \sum_{\ell=i}^n \left(\sum_{k=i}^{\ell} s_{\alpha}(k, i) S_{\alpha}(\ell, k) \right) s(n, \ell);$$

hence,

$$\sum_{k=i}^{\ell} S_{\alpha}(\ell, k) s_{\alpha}(k, i) = \delta_{\ell i},$$

where $\delta_{\ell i}$ is Kronecker's delta.

3. THE MULTIPARAMETER NONCENTRAL STIRLING NUMBERS OF THE SECOND KIND

Definition: Let t be a real number, n a nonnegative integer, and $\bar{\alpha} = (\alpha_0, \alpha_1, \dots, \alpha_{n-1})$, where $\alpha_0 < \alpha_1 < \dots < \alpha_{n-1}$ are real numbers.

We define $S(n, k; \alpha_0, \alpha_1, \dots, \alpha_{n-1})$, briefly denoted by $S(n, k; \bar{\alpha})$, the multiparameter non-central Stirling numbers of the second kind with parameters $\bar{\alpha} = (\alpha_0, \alpha_1, \dots, \alpha_{n-1})$, by

$$(t/\alpha)_n = \sum_{k=0}^n S(n, k; \bar{\alpha}) (t)_k, \tag{3.1}$$

where $S(0, 0; \bar{\alpha}) = 1$ and $S(n, k; \bar{\alpha}) = 0$ for $k > n$.

Theorem 3.1: The numbers $S(n, k; \bar{\alpha})$ satisfy the recurrence relation

$$S(n, k; \bar{\alpha}) = S(n-1, k-1; \bar{\alpha}) + (k - \alpha_{n-1}) S(n-1, k; \bar{\alpha}). \tag{3.2}$$

Proof: Since $(t/\alpha)_n = (t/\alpha)_{n-1}(t - \alpha_{n-1}) = (t/\alpha)_{n-1}[(t-k) + (k - \alpha_{n-1})]$, we obtain, from (3.1),

$$\sum_{k=0}^n S(n, k; \bar{\alpha}) (t)_k = (t-k) \sum_{k=0}^{n-1} S(n-1, k; \bar{\alpha}) (t)_k + (k - \alpha_{n-1}) \sum_{k=0}^{n-1} S(n-1, k; \bar{\alpha}) (t)_k,$$

which gives us (3.2).

We discuss the following special cases:

i) If $\alpha_i = \alpha$, $i = 0, 1, \dots, n-1$, then from (3.2) we have

$$S(n, k; \alpha) = S(n-1, k-1; \alpha) + (k - \alpha) S(n-1, k; \alpha),$$

where $S(n, k; \alpha)$ denotes the noncentral Stirling numbers of the second kind as defined by Koutras [6].

ii) If $\alpha_i = 0$, $i = 0, 1, \dots, n-1$, then from (3.2) we have

$$S(n, k) = S(n-1, k-1) + k S(n-1, k),$$

where $S(n, k)$ denotes the Stirling numbers of the second kind (see [9]).

iii) If $\alpha_i = i$, $i = 0, 1, \dots, n-1$, then $S(n, k; \bar{\alpha})$ reduces to the C -numbers, where $r = 1$, i.e., $C(n, k; 1)$ (see [2]).

In the following, we find a relationship between $s_{\alpha}(n, k)$ and $S(n, k; \bar{\alpha})$.

From (3.1) we have

$$(t/\alpha)_n = \sum_{k=0}^n S(n, k; \bar{\alpha}) (t)_k = \sum_{k=0}^n S(n, k; \bar{\alpha}) \sum_{i=0}^k s(k, i) t^i;$$

hence,

$$\sum_{i=0}^n s_{\alpha}(n, i) t^i = \sum_{i=0}^n \left(\sum_{k=i}^n S(n, k; \bar{\alpha}) s(k, i) \right) t^i,$$

and equating the coefficients of t^i on both sides, we get

$$s_{\alpha}(n, i) = \sum_{k=i}^n S(n, k; \bar{\alpha}) s(k, i). \tag{3.3}$$

Similarly, we have

$$(t/\alpha)_n = \sum_{k=0}^n s_{\alpha}(n, k) t^k = \sum_{k=0}^n s_{\alpha}(n, k) \sum_{i=0}^k S(k, i) (t)_i;$$

therefore,

$$\sum_{i=0}^n S(n, i; \bar{\alpha}) (t)_i = \sum_{i=0}^n \left(\sum_{k=i}^n s_{\alpha}(n, k) S(k, i) \right) (t)_i,$$

and hence,

$$S(n, i; \bar{\alpha}) = \sum_{k=i}^n s_{\alpha}(n, k) S(k, i). \tag{3.4}$$

Also, we can express $S(n, k)$ in terms of $S(n, k; \bar{\alpha})$. It follows from (1.4) that

$$t^n = \sum_{k=0}^n S_{\alpha}(n, k) (t/\alpha)_k = \sum_{k=0}^n S_{\alpha}(n, k) \sum_{i=0}^k S(k, i; \bar{\alpha}) (t)_i.$$

Thus,

$$\sum_{i=0}^n S(n, i) (t)_i = \sum_{i=0}^n \left(\sum_{k=i}^n S_{\alpha}(n, k) S(k, i; \bar{\alpha}) \right) (t)_i,$$

implying that

$$S(n, i) = \sum_{k=i}^n S_{\alpha}(n, k) S(k, i; \bar{\alpha}). \tag{3.5}$$

Moreover, we can find a relationship between $s(n, k; \bar{\alpha})$, $s_{\alpha}(n, k)$, and $s(n, k; \alpha)$, as follows. From (2.6) and (1.9) in [6], we get

$$\sum_{\ell=i}^n \binom{n}{\ell} (-\alpha)_{n-\ell} s(\ell, i; \alpha) = \sum_{\ell=i}^n s(n, \ell; \bar{\alpha}) s_{\alpha}(\ell, i);$$

hence,

$$\sum_{\ell=i}^n \left(s(n, \ell; \bar{\alpha}) s_{\alpha}(\ell, i) - \binom{n}{\ell} (-\alpha)_{n-\ell} s(n, i; \alpha) \right) = 0. \tag{3.6}$$

Similarly, from (2.5) and equation (2.5a) in [6], we get

$$\sum_{k=i}^n \left(S_{\alpha}(n, k) S(k, i; \bar{\alpha}) - \binom{n}{k} \alpha^{n-k} S(k, i; \alpha) \right) = 0. \tag{3.7}$$

4. APPLICATIONS

i. From (2.6), and since

$$s(n, i) = \sum_{k=i}^n (-1)^i L(n, k) s(k, i),$$

where $L(n, k)$ denotes the Lah numbers (see [3]); hence, we obtain the combinatorial identity

$$\sum_{k=i}^n \left((-1)^i L(n, k) s(k, i) - s(n, k; \bar{\alpha}) s_{\alpha}(k, i) \right) = 0. \tag{4.1}$$

Similarly, from (2.6), and since

$$s(n, i) = r^{-i} \sum_{k=i}^n C(n, k, r) s(k, i),$$

where $C(n, k, r)$ denotes the C -numbers (see [3]), we have the combinatorial identity

$$\sum_{k=i}^n \left(s(n, k; \alpha) s_{\alpha}(k, i) - r^{-i} C(n, k, r) s(k, i) \right) = 0. \tag{4.2}$$

ii. We find an orthogonality relation of $s(n, k; \bar{\alpha})$ and $S(n, k; \bar{\alpha})$. From (2.1) and (3.1), we get

$$\begin{aligned} (t)_n &= \sum_{k=0}^n s(n, k; \bar{\alpha}) (t/\alpha)_k = \sum_{k=0}^n s(n, k; \bar{\alpha}) \left(\sum_{i=0}^k S(k, i; \bar{\alpha}) (t)_i \right) \\ &= \sum_{i=0}^n \left(\sum_{k=i}^n s(n, k; \bar{\alpha}) S(k, i; \bar{\alpha}) \right) (t)_i; \end{aligned}$$

hence,

$$\sum_{k=i}^n s(n, k; \bar{\alpha}) S(k, i; \bar{\alpha}) = \delta_{ni}, \tag{4.3}$$

where δ_{ni} is Kronecker's delta.

iii. Let $M_{j,k}(x)$ denote the B -spline of Curry Schoenberg with knots $\xi_j < \xi_{j+1} < \dots < \xi_{j+k}$ ($j \in \mathbb{Z}, k = 1, 2, \dots$) as defined in [7]. The moments $\mu_{\ell}(k, \xi)$ of the B -spline $M_{j,k}(x)$ when the index j is equal to 0 is given by

$$\begin{aligned} \mu_{\ell}(k, \xi) &= \int_{-\infty}^{\infty} x^{\ell} M_{0,k}(x) dx, \quad \ell = 0, 1, \dots; k = 1, 2, \dots; \\ &\quad \xi = (\xi_0, \xi_1, \dots, \xi_k). \end{aligned}$$

From (3.3) and Proposition 3.1 in [7], we get

$$\mu_{n-i}(k, \xi) = \binom{n}{k}^{-1} \sum_{k=i}^n S(n, k; \bar{\alpha}) s(k, i). \tag{4.4}$$

REFERENCES

1. T. Cacoullous. "Multiparameter Stirling and C-Type Distributions." In *Statistical Distributions in Scientific Work*, Vol. I: *Models and Structures*, pp. 19-30. Ed. G. P. Patil et al. Dordrecht: Reidel, 1974.
2. Ch. Charalambides. "The Generalized Stirling and C-Numbers." *Sankhya (Ser A)* **36** (1974): 419-36.
3. Ch. Charalambides. "A New Kind of Numbers Appearing in the n -Fold Convolution of Truncated Binomial and Negative Binomial Distributions." *SIAM J. Appl. Math.* **33.2** (1977):279-88.
4. Ch. Charalambides & J. Singh. "A Review of the Stirling Numbers, Their Generalization and Statistical Applications." *Communstatist. —Theory Meth.* **17.8** (1988):2533-95.
5. M. Comtet. "Numbers de stirling generaux et fonctions symétriques." *C. R. Acad. Sc. Par. (Series A)* **275** (1972):747-50.
6. M. Koutras. "Non-Central Stirling Numbers and Some Applications." *Discrete Math.* **42** (1982):73-89.
7. E. Neuman. "Moments and Fourier Transforms of B -Spline." *J. Comput. Appl. Math.* **7.1** (1981):51-62.
8. J. Riordan. *An Introduction to Combinatorial Analysis*. New York: Wiley, 1958.
9. J. Stirling. *Methodus Differentialissme Tractus de Summatione et Interpolatione Serierum Infinitarum*. London, 1730. [English translation by F. Holliday with title *The Differential Method*, London, 1749.]

AMS Classification Numbers: 05A15, 05A19, 05A10



**GENERALIZED PASCAL TRIANGLES AND PYRAMIDS:
THEIR FRACTALS, GRAPHS, AND APPLICATIONS**

by Dr. Boris A. Bondarenko

Associate member of the Academy of Sciences of the Republic of Uzbekistan, Tashkent

Translated by Professor Richard C. Bollinger

Penn State at Erie, The Behrend College

This monograph was first published in Russia in 1990 and consists of seven chapters, a list of 406 references, an appendix with another 126 references, many illustrations and specific examples. Fundamental results in the book are formulated as theorems and algorithms or as equations and formulas. For more details on the contents of the book, see *The Fibonacci Quarterly* 31.1 (1993):52.

The translation of the book is being reproduced and sold with the permission of the author, the translator, and the "FAN" Edition of the Academy of Science of the Republic of Uzbekistan. The book, which contains approximately 250 pages, is a paperback with a plastic spiral binding. The price of the book is \$31.00 plus postage and handling where postage and handling will be \$6.00 if mailed anywhere in the United States or Canada, \$9.00 by surface mail or \$16.00 by airmail elsewhere. A copy of the book can be purchased by sending a check make out to THE FIBONACCI ASSOCIATION for the appropriate amount along with a letter requesting a copy of the book to: MR. RICHARD S. VINE, SUBSCRIPTION MANAGER, THE FIBONACCI ASSOCIATION, SANTA CLARA UNIVERSITY, SANTA CLARA, CA 95053.